TR 184E

INIFE | =
. (NVIIE; e B2l
(w#Eh ) | By A
—ig1EE
XiE_[KRCC) | KIR(°C) | HREIKEZE T =X 5
4H| BEY 28.8 28.4 == BE me mR
6Bl EBh 33.0 25.0 == BE meE |
s8A| ®Bh 37.0 36.2 =IE BE me mR
10H| BEY 305 29.8 =IE BE me mR
128 BBh 17.3 15.0 =IE BE me mR
2R ®n | 151 7.0 =B B 22 me
4 ERIIA B
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20U | 25LLF | 1000LLF
EHE(75%1E) - 9.5 1.0(1.2) 2 =
48] 78 93 <0.5 S =
68| 84 9.1 0.9 2 -
8A 7.0 7.8 0.7 8 —
10A| 73 8.9 0.7 < —
128 77 10 1.7 < _
28| 77 12 1.2 1 —
REEE
NI INESDS & £n ANEvaL | HME fKER 7 ILXILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#&ZE] 001U F [ FE#E | 001LLF | 0.058LF | 0.01LLF | 0.0005LLF ERHE
EHiE - - - - - - -
a4l - - - - - - -
6Al - - - - - - -
sAl - - - - - - -
108 - - - - - - -
128 - - - - - - -
2B - - - - - - -
ooanA .. |1.2-o7080[11-o50a|vX-12->7a| 1.1,1-F)Z0n
PCB |77 7| RBERE | "ry |zl |z THY
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE] JE#RH [002LLF | 0.002LLF | 0.004LLF [ 0.02LLF [ 0.04LLF 1LLF
S - - - - - - -
a4l - - - - - - -
6A[ - - - - - - -
sAl - - - - - - -
108 - - - - - - -
128 - - - - - - -
2R - - - - - - -
e s M [ 1] ey ey Py
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E]0.006LLF[0.03LLF | 001LLF [ 0.002LLF [0.006LLF] 0.003LLF 0.02LLF
[ FIMEl - - - - - - -
a4 - - - - - - -
6Al - - - - - - -
sAl - - - - - - -
108 - - - - - - -
128 - - - - - - -
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
4H - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
Nnnn| 2R | 2% @ | emE@ | soodus [TATATE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.69 0.012 - - - -
4A - 1.0 0.006 - - - -
64 - 0.60 0.017 - - - -
8H - - - - - - -
10H - 0.51 0.014 - - - -
12H - 0.66 0.009 - - - -
2H - - - - - - -
BiLH HHERYE | VU s o =i S
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
FHiEl - - 1.5 - - - -
4R - - 1.4 - - - -
64 - - 1.9 - - - -
8A - - 1.6 - - - -
10R] - - 1.7 - - - -
128 - - 1.1 - - - -
28 - - 1.3 - - - -




RIS

FE | im =
2 % I\ &% B =531
(@B ) | B|E A
—{RIE R
X&_|&SECC)| KECC) | E#BUKE | FiiR 18 BS
4H| BEY 27.9 28.0 EdS BE xR mR
6Bl EBh 33.0 25.5 == BE meE |
8Al EBh 38.3 35.0 == BE |meE |
10H| BEY 31.1 29.5 =IE BE me mR
128 BBh 15.9 13.8 =IE BE me mR
2B @n | 154 85 RIE B e me
$RREIER —
H DO BOD SS KEEHRK
P (mg/) (mg/) | (mg/H__| (MPN/100mi)
E&(E] 65~85] 75LLF | 20 | 25LLF | 1000LLF
EHIE (75%1E) - 9.6 1.0(1.4) 2 =
48] 78 9.4 <05 s -
68| 82 9.3 1.0 4 -
8A 6.9 7.6 0.5 1 —
10A] 73 9.1 0.9 1 -
128 77 10 1.7 1 -
28| 84 12 1.4 1 -
BEEE
NI INEDS & N ANEvaL | #ME fKER 7 IL¥ILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#&{E] 001U F | FERE | 001LLF | 0058 F [0.01LLF | 0.0005ELF e
EH{E - - - - - - -
agl - - - - - - -
;] - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
2A] - - - - - -
oo we |1,2-900(1,1-5an|YR-1,2-240] 1,1,1-kY4~00
PCB .y ML % % Ty gy Tl T4
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE] ERH [002LLTF | 0.002LLF | 0.004LLTF [0.02LLF | 0.04LLF 1LF
EET) - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8A| - - - - - - -
108 - - - - - - -
128 - - - - - - -
28] - - - - - -
—_KI ] =L _5
L2 by IRIZORITRIIAnTS D700 sosa | vevy  |FARuLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E]0.006LLF[0.03LLF | 001LLF [ 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
EET - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
2A] - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
4H - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N e 22X | &% @ | 2E® | saekus [TATATE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 0.72 0.024 = = = -
4R - 0.88 0.011 - - - -
64 - 0.69 0.038 - - - -
8H - - - - - - -
108 - 0.53 0.030 - - - -
128 - 0.78 0.018 - - - -
2H - - - - - -
BiLH HHHMRYE | VU s o e =i S
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
FH{E - - 1.9 = = = -
4A[ - - 1.6 - - - -
6B - - 20 - - - -
sA| - - 1.9 - - - -
10R] - - 2.1 - - - -
128 - - 1.8 - - - -
28 . 17 . . . -




RIS

EFE | A =6l
ih R4
(HyR) | J® A
—RI8 B
Xx|[SUECC) [ KiE(°C) | HEUKE iR =i BR
4H| BEY 29.1 30.1 == BE k- mR
68| ®Bh 355 225 =IE BE me mR
sAl ®Bn 36.8 29.0 =E BE ) mE
10H| BEY 30.7 29.1 =IE BE me mR
128 BBh 16.3 15.0 =IE BE me mR
28] ®Bh 18.3 8.0 == mNAL BE M
EERIEEE _
H DO BOD SS KEEHK
P (mg/) (mg/) | (mg/H__| (MPN/100mi)
EE(E] 65~85] 75LLF | 20 | 25LLF | 1000LLF
EHE(75%1E) - 9.1 1.4(2.4) 2 =
48] 77 8.9 0.6 2 -
6A|l 719 8.9 1.2 2 -
8A 6.7 7.6 0.7 5 —
10A] 73 8.5 1.0 1 -
128 75 9.5 2.4 <1 -
28 7.8 11 2.7 1 —
RBEIER
N INESS & o NS $hkER 7 ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | E#RE | 001LLF | 0055 F | 0.01LLTF | 0.0005LLF JERH
EiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -
oo we |1,2-900(1,1-4an|YR-1,2-240] 1,1,1-kY4~00
PCB 5 bR A E 3 T gy Tl h
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EfE] JERH 00200 ] 0.002LLF | 0.004LLF | 002 F | 0.04LLF 1LF
TiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -
—_KI ] =L _5
Lz by IRIZORITRIIAnTS D700 susa | vevy |FARuLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E[0.006 L F[0.03LLF | 001LLF | 0.002LLF [0.006LLF[ 0.003LLF 0.02LLF
TiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
4H - - - - -
6H - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2R - - - - -
EDHIEE
Ny 2EX | &% @ | 2E® | saetkus [TATATE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 1.7 0.043 = = = -
4A - 1.7 0.015 - - - -
64 - 1.6 0.073 - - - -
8H - - - - - - -
108 - 15 0.040 - - - -
128 - 1.8 0.044 - - - -
2R - - - - - - -
BiLH HHHERYE | VU ; = i S
IT/=| xS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
FH{E - - 3.3 = = = =
4A[ - - 34 - - - -
6B - - 34 - - - -
sA| - - 33 - - - -
10A| - - 3.0 - - - -
128 - - 3.1 - - - -
Y1 . 35 . . - -




RIS

5 E%‘#ff% A4 aE
(BER) | #® A
— g8 B
Xz |KRCC)| KE(C) | EEEKE iR =Xz R
48| #E=Y 28.9 29.4 =RE B R % |ms
6Bl Bn 35.0 25.0 == BE ) mE
8A|l EBh 37.7 34.7 =IE BE me mR
10A| #E=Y 30.7 24.5 == BE me mE
128 BBh 14.4 13.8 =IE BE me mR
28] ®Bh 18.3 8.0 =B BE i) M
4FRRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20U | 25LLF | 1000LLF
EHE(75%1E) - 9.4 0.9(1.0) 1 1800
48] 77 9.3 <0.5 1 -
6A] 79 8.9 0.9 2 500
8A 6.6 7.6 0.7 1 —
10A] 73 8.5 0.6 1 3000
12A8] 74 10 1.6 1 -
28 7.6 12 1.0 1 —
RBEIER
NP INES ED ANEvOL | #E $hokER T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | E#E | 001LLF | 005LLF | 0.01LLTF | 0.0005LLF JEHRH
EH <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
soanA ..o (1,2-090808[1,1-40n|PR-1,2-S450 1,1,1-k)SA0
PCB 52 mig L% T4 TFLY NTFL &Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s E#RE [0.02LLF | 0.002LLTF | 0.004LLF | 0.02LLF |  0.04LLF 1LF
i - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
48 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
6 A - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
8AH - - - - - - -
10A - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
128 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
28 - - - - - - -
- [ kS -
Lz by IRIZORITRIIAnTS D700 su5a | vevy  |FARuLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006 L F[ 0.003LLF 0.02LL'F
EH <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E(E] 0.01LLTF [0.01LLF | 10LLTF 0.8LLF 1T
E{E]  <0.001 <0.001 0.72 <0.1 <0.1
48] <0.001 <0.001 0.81 <0.1 <0.1
68| <0.001 <0.001 0.46 <0.1 <0.1
8AH - - - - -
10A]| <0.001 <0.001 0.73 <0.1 <0.1
12A] <0.001 <0.001 0.86 <0.1 <0.1
28 - - - - -
ZTDHhIFE
N SR | 28 @ | 2E® | saetkus [TATATE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.83 0.028 - <0.005 - -
4K - 0.98 0.016 - - - -
68 - 0.65 0.026 - - - -
8H - - - - <0.005 - -
108 - 0.76 0.037 - - - -
128 - 0.92 0.031 - - - -
28 - - - - - - -
B HIEERTE | VB . e g i
Jx/—JL gy COD el > AE BEREEE
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - - 1.7 <0.01 - - 150
4K - - 1.7 <0.01 - - 120
64 - - 2.0 <0.01 — — 160
8H - - 1.6 - - - 130
10R - - 2.2 - - - 180
128 - - 15 - - - 170
28 - - 1.4 - - - 140




RIS

EEE | M4 =6l
iR
(HyR) | J® A
— g8 B
Xz |[SUECC) | KiE(°C) | HEUKE i =i BR
4H| BEY 30.9 30.5 ES BE xR mR
68| ®Bh 305 24.0 =IE BE me mR
s8A| ®Bh 35.7 35.0 =IE BE me mR
10A| #E=Y 28.9 27.2 =E BE i) mE
128 BBh 14.4 11.2 =IE BE me mR
28] ®Bh 12.6 9.0 xE BE ) M
HERIEEE _
H DO BOD SS KEEHK
P (mg/) (mg/) | (mg/H__| (MPN/100mi)
EZ(E]| 6.5~85 | 15LLE 20LLF | 25LLF [ 1000LLF
EHIE (75%1E) - 9.0 1.1(1.4) 4 =
48] 76 9.1 <0.5 2 -
64 7.7 8.2 1.3 9 -
8A 6.4 7.7 1.0 5 -
10A] 73 8.1 0.8 2 -
128 73 9.7 15 1 -
28 7.3 11 1.4 3 —
RBEIER
N INESS P o NS $hkER 7 ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | E#RE | 001LLF | 0055 F | 0.01LLTF | 0.0005LLF JERRH
EiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -
HoaA we |1,2-900[1,1-5an|YR-1,2-240] 1,1,1-kY4~00
PCB 5 bR A E 3 Ty gy Tl h
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EfE] JERH 00200 ] 0.002LLF | 0.004LLF | 002 F | 0.04LLF 1LF
TiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -
—_KI ] =L _5
L2 bap IRIZORITRIIanTS D700 so5a | vevy |FARuLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E[0.006 L F[0.03LLF | 001LLF | 0.002LLF [0.006LLF[ 0.003LLF 0.02LLF
TiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
4H - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
Ny 2EX | &% @ | 2E® | saetkus [TATATE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 1.3 0.091 = = = -
4A - 1.2 0.036 - - - -
64 - 1.5 0.15 - - - -
8H - - - - - - -
108 - 1.2 0.066 - - - -
128 - 1.2 0.11 - - - -
2H - - - - - - -
BiLH HHHERYE | VU ; = i S
IT/=| xS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
TEE - - 25 - - - -
4A[ - - 22 - - - -
6B - - 30 - - - -
sA| - - 2.6 - - - -
10R] - - 1.9 - - - -
12A| - - 23 - - - -
28 - - 2.9 - - - -




